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call by value, call by reference
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Call by value A=

(callbyvalue.c)
#include <stdio.h>
void increase(int origin, int increment); 12 1h
10

int main(void) {
int amount = 10;
//amount?t 20 S 75X ES
increase(amount, 20);
printf("%dWn", amount);

return O; amountg& M 2 origin 45 T
} HAXITE amountd|= F0| Gl3.

void increase(int origin, int increment) {
origin += increment;

}
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Call by reference A=

(callbyreference.c)
#include <stdio.h>
void increase(int *origin, int increment); [Z1h
30

int main(void) {
iInt amount = 10;
increase( &amount, 20 );

printf("%d¥n", amount);

return O: L
/ > BHE YO M =AS ZHEE
} > BB SHA0|M HAE 7}

void increase( int *origin, int increment) {
*origin += increment;

}
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(arrayparameter.c)
#include <stdio.h>
#define ARYSIZE 5 [Z1H
double sum(double gf], int n); 23 34 45 67 9.2
int main(void) { ot 26.1

double data[] = { 2.3, 3.4, 4.5, 6.7, 9.2 };

for (inti = 0; i < ARYSIZE; i++)
printf("%5.1f", datali]);

puts(™);

printf("2}: %5.1f#n", sum(data, ARYSIZE));

return O;

}

double sum( double ary[], int n') {

double .tOtal : 0.0; ) fHHo# oA ZHS = M= staH™Ho| . )
for (inti=0;1 < n;i++) = oo = T = BTo—l.
| 4= . - H{E 0| &2 FA0[EZ call by reference
total += aryl[i]; o} Zte ojn],
return total - HigRa4E Heol oixte MY}l
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(arrayparam.c)

#include <stdio.h>
int sumary(int *ary, int SIZE); //int sumary(int ary[], int SIZE)= 7}=
int main(void) {

int point[] = { 95, 88, 76, 54, 85, 33, 65, 78, 99, 82 },

int aryLength = sizeof(point) / sizeof(int);

int *address = point;

int sum = 0; . —
for (inti = 0; i < aryLength; i++) | //sum +=*(point++); //ETI_r =
sum += *(point + i); //sum += *(address++); //7tS

printf("| 21 O| A L2t 2 % Jdtn', sum);

printf(" %‘—T—sumary() §§E

printf("&=sumary() LEE 7o g2 %de sumary(&pomt[O] aryLengtf
TEE

printf("&=sumary() oF 22 %dWn", sumary(address, aryLength))
return O; (211
J 0 QIO A St T2 755
gh=sumary()

DERZ P27
gtsumary() 2 7o 2H2 755
OI‘Aﬁllm—\v‘\l/\ _(Iﬁ_—*—; :.-(Iﬁ-l- g -7
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(arrayparam.c)

Int sumary(int *ary, int SIZE)
{

iInt sumary(int ary[], int SIZE)
T Its

|

Int sum = 0; \[

for (inti = 0;i < SIZE; i++) {

//sum += aryli];
//sum += *(@ary + I);
sum += *ary++;

[er 25 Jts) ]

//sum += *(ary++);

}

return sum;

[Z1H

H elof A ot &2 755

2 sumary() REE ToF &2 755
2 sumary() REE ToF &2 755
2 sumary() EEE 7o &2 755
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(arrayfunction.c)

#define CRT_SECURE_NO_WARNINGS
#include <stdio.h>
void readarray(double[], int);
void printarray(doublel], int);
double sum(doublel[], int);
int main(void) {
double data[5];

int arraysize = sizeof(data) / sizeof(data[0]);
= %d7H 2] 2f= R ESHM K. Wn", arraysize);

printf("&
readarray(data arraysize);

printf("Wn &t XAt24f2 ChS1F &

printarray(data, arraysize);

printf("&r =0l A ot &2 %.3f &IL|CtwWn", sum(data, arraysize));

return O;

[Z4}]

2 5702 kS YESHM K.
data[O] =4

data[1] = 3

data[2] = 7

data[3] = 8

data[4] = 9

U3t AR Chga 2L o
data[0] = 4.00 data[1] = 3.00 date
20 A T2k &2 31.000 'LIEr

S LI CEWn");
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(arrayfunction.c)

void readarray(double datal], int n) {
for(inti=0;1 < n;i++){

printf("data[%d] = ", i); )
scanf("%lf", &datali] ;H_[gatjar; ) J
}

void printarray(double data[], int n) {
for(inti=0;1 < n;i++)
printf("data[%d] = %.2If ", i, *(data + 1));
printf("Wn");

}

}
double sum(double datal], int n) {

double total = 0;

for (inti=20;1<n;i++) “(data + i
total += datali]; (da ‘L )
T 7ts
return total;

}
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[Z1h

2 A= 1/2 25tel ol ARt ChElt 2y
(1 I f tion.c) T4& 4 x[0][0] = 1.00 x[O][1] =
: 2R A x[1][0] = 7.00 x[1][1] =

#incl h <
include <stdio.h> 3Bl A x[2][0] = 4.00 x[2][1] =
double sum(double data[][3], int, int); 4B 2 x(3]0] = 10.00 x[3](1] =
void printarray(double datal][3], int, int); SXFSl HI SASe 78000 QILICH

—

int main(void) {
double x[][3] = {{1,2,3}{7, 8 9}{4,5 6}{10, 11,12 }};

int rowsize = sizeof(x) / sizeof(x[0]);

int colsize = sizeof(x[0]) / sizeof(x[0][0]);

printf("2Xt& HIE | Atz ¢f2 T2 &=L CHwn");

printarray(x, rowsize, colsize);

printf("2XH& H{E AT %.3If Y LICEWN", sum(x, rowsize, colsize));

eturn 0 2xHl B Qo) B/ T2
AUOIL O] &40 M EL
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(twodarrayfunction.c)

void printarray(double data[][3], int rowsize, int colsize) {
for (inti = 0;1 < rowsize; i++) {
printf("% d &2 " 0+ 1),
for (intj = 0; j < colsize; j++)
printf("x[%d][%d] = %5.2I1f ", i, j, data[i]l[j]);
printf("Wn");
}
printf("Wn");
}
double sum(double data[][3], int rowsize, int colsize) {
double total = O;
for (inti = 0; i < rowsize; i++)
for (intj = 0; j < colsize; j++)
total += datalil[j];
return total;

}
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7144 21X} (variable argument)

QX2 =2} XI=H0| ZIE|X| 42 e 2UAL S4
QxS S W Foll 71l : (0fl) printf, scanf

g 82 Al - 2B V&

void vatest(int numargs, )

L B & 2

o JIHHOIA} ... AlE MO 0 OHIHH~0flAM 7HHOIX} *2|0f] 2t
HHE Fof &. (numargs7} 7H21xLS| J<)

¢ =0l el 71 21X} A2l vy
#include <stdarg.h>
& 1. 7PHQIX}I M2 : va_list argp;
o OiX| HEMAUXE JIHOIXIE X2l HE--E SiLf Bl
& 2. JpHOIX} 2| A= : va_start( argp, numargs);
o MOAEl H~0f|A OFX|2 0F QXIS XIF™GH 71 IXte| A= 9| %]

£oalE wy
¢ 3 7MHOIX}I 7] : va_arg( argp, int );
e J[HOIX} Zizto] X2 &S XA 50 7[HOIXIE HiEl Y= HR|

& 4 71HoIX} XM2| S& : va_end(argp);
o 7t 2Ixtof CHet XM2|E ELi= Bl
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(vararg.c)

#include <stdio.h>
#include <stdarg.h>
double avg(int count, ..);
int main(void) {

printf("BT %.2fwn", avg(5, 1.2, 2.1, 3.6, 4.3, 5.8));

return O;

}

double avg(int numagrs, ...) {
va_list argp;

va_start(argp, numagrs);

double total = 0; //&0| MH&& H=

for (inti = 0; i < numagrs; i++)
total += va_arg(argp, double);

va_end(argp);

return total / numagrs;

[Z1H
H 3.40




